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MULTIPLECHOICE.Choosetheonealternativethatbestcompletesthestatementoran
swersthequestion.Listtheorderedpairsfromthetable.

1)1)
X y
3 | -9
5 -12
7 | -18
8 |-21

A)(4,-21),(5,-18),(7,-12),(8,9)B)(4,-12),(5,-9),(7,-21),(8,-18)
C)(4,-9),(5,-12),(7,-18),(8,-21)D)(-9,4),(-12,5),(-18,7),(-21,8)

2) 2)
S al es at the U ni ver si ty B o okst o re
Month|  Sales

| S500,000
2 $220,000
3 51,190,000
4 $420,000

A)(500,000,1),(220,000,2),(1,190,000,3)
,(420,000,4)B)(1,220,000),(2,500,000),(3

,420,000),(4,1,190,000)C)(420,000,1)
,(1,190,000,2),(220,000,3), (500,000, 4)
D)(1,500,000),(2,220,000),(3,1,190,000
), (4,420,000)

ForthepointsPandQ,findthedistanced (P, Q).
3)P(2,5),Q(-1,-3)3) A)24B)-5C) D)

4)PB3,-5),Q(5,-1)4)— A2 B)2C)12 D) 12

5)P(-6,-1),Q(6,3)5) A s B)4 C)8 D) 128
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6)P@4,5),Q(-1,-5)6)  A)5B)7> 05 D) 75
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7)



ForthepointsPandQ,findthecoordinatesofthemidpointofthesegmentP Q.

1 9
3-= 4=
8>P<7,4>,Q<1,5>8>_A>[ 3] B)(8,9)C)(6,—1)D)[ 2]

9)P(6,-4)IQ(-7,7)9)_A)[- ]
10)P(-6,-9),Q0,0)10)__A)B)(3,-9)C)D)(-15,-9)

15 9
23

1
2/

v

3 11
B)[z' 2] C)(-1,3)D)(13,-11)

n



11)P(-1,8),Q(-3,5)11)_A) B)(-4,13)C) D)(2,3)

12) 5 AIC AB 12y z) 5
(9,-m),Q(- ,0) A) [2_'2_] B)(-5,10)C) Ll'%J D)
&

5 3 I [4«[171_.\[_3_—"} r.p\ﬁ ‘Kﬁ:ﬂ (;« 7_21}]
7 AJ13 7 AJ13

13)1»(9,[4/«/:;)1‘(_ IR B) 0

D) fiw .
2 7 {-«ﬁmﬁ 1 (A2 144f7
ﬁ 1 -aJ7Y 2 "2 | 2% 9 \/5 ’\/;

Determinewhetherthethreepointsaretheverticesofarighttriangle.
15)(6,-6),(9,-6),(9,1)15)_A) Yes B) No

16)(-5,3),(-3,7),(-1,6)16) __A) Yes B)No
17)(1,4),(7,6),(11 ,-6)17 A)YesB)No
18)(7,0),(13,2),(12,-3)18)__A) Yes B)No
19)(2,6),(88),(14 ,1)19 A)YesB)No

20)(-11,6),(0,-5),(2,-3)20)_A) Yes B) No

Determinewhetherthethreepointsarecollinear.

21)(-14,-9),(-8,-5),(-20,-13)21)_A) Yes B) No
22)(3,-10),(-2,-7),(0,-5)22)_A) Yes B) No
23)(-1,-3),(1,1),(9,17)23)__A) Yes B) No

24)(7,-3),(-2,5),(1,1)24)__A) Yes B) No

Findthecoordinatesoftheotherendpointofthesegment, givenitsmidpointandoneendpoint.

25)midpoint("l'g],endpoint(—4,5)25)



A)(2,1)B)(-10,-3)C)(2,13)D)(4,11)

26 (-2,1)
)mldp01nt ,endpoint(3,2) 26
27) . (13,1
)m1dpo1(nt ],endpoint(10,5) 27
A)(2,11) B) (4,13)C) ( 6,-3)D)(16,9)
28 (-1, -8)
) mid po i nt ,endpoint(3,-10) 28
A)(-5,-12 B)(11,-14) Q) (-5,-6) D)(7,-18)

29)midpoint(d,y),endpoint(m,q)29)_ A)(2m-d,2q-y)B)(2d-m,2y-q)

C)F(d m y-q)
+m y 9 I
E d ll-\\ 30)
rn1dpo1 ,endp01n P9
A)(d, w)B)
d w
?"7]
O (d,-w)D) _L4_*£14_J

Solvetheproblem.
3 31)
1) The grap hsho wsanid ealizedlinearrelati o nshi p fo r the a ver age mo nthly p ay

menttoretireesfrom1995t01999.U se the mi d pointformul a to esti mate the a

veragepaymentinl997.

A ver age M o nt hl y Pa ymen t to Reti re es

560:-p:ymcm
550T
40T
s30T
S20T b
510T
5001
4901
4801
4701

sor va
R S S

1 2 3 4 Yea
199519971999

a=%$452;b=
$520

A)$34B)$500C)$520D) $486
32)



32)Thetablelistshow financialaidincomecutoffs(indollars)yforafamilyoffo
ur have chan ged o ver ti me. U se the mi d pointformula to appr o xi mate t he f i nanci
alaidcutofffor1985.



A)$21,000B)$18,000C)$36,000D)$57,000

33)Thetableshowsenrollmentin?2 -year tec hnical schoolsfor1980,1990and20

33)
00 . A ssuming a linear rel ati o nshi p, esti mat e theenroll mentfor1995.

Year| Enrollment (in millions’

1980 2.4
1990 3.1
2000 38

A)2.4millionB)1.75millionC)5.15millionD)3.45million

Graphtheequationbydeterminingthemissingvaluesneededtoplottheorderedpairs.
34)y+x=4;(1,),(4,),(3,)34)













C)D)




Graphtheequationbyplottingpoints.
39)y =69)°

A)B)

C)D)

10)y =b6540)







42)y=|-4-x| 42)

) D)

43)y=1Ixl+2



A)B)

C)D)

44)y=-x2+244)




) D)

45)y=x3-245)

101



C)D)




Provideanappropriateresponse.

47)Ifthepoint(a b)isinthefourthquadrant,inwhatquadrantis(a, -b)?47) A)IIB)IVC)ID)III
48)Ifthepoint(a b)isinthefourthquadrant,inwhatquadrantis(-a -b)?48) A)IIB)IC)IVD)II
49)Ifthepoint(a b)isinthefourthquadrantinwhatquadrantis(b,a)?49)_ A)IIB)IC)IID)IV

50)Ifaverticallineisdrawnthroughthepoint(-5,-4), where willitintersectthex-axis?50)_ A)(0
,-4)B)(-5,00C)(-4,0)D)(0,-5)

51)Ifahorizontallineisdrawnthroughthepoint(5,6), wherewillitintersectthey -axis?51) __ A)(
0,6)B)(0,5)C)(5,0)D)(6,0)

52)Whatisthemidpointofthesegmentjoining(d,x)and(-5d,7x)?52)__A)(-3d,4x)B)(-44d,8
x)C)(2d,3x)D)(-2d,4x)

53)Whatisthedistancefromtheorigintothe point(m,-n)?53) A) VmZ2 - n2 B)\sz*‘”2
C) v\ﬂm -n D) m2 +n2
54)Whatisthedistancefromthepoint(c,z)tothepoint(m,q)?54) A)B)
\]m ) (q-/)~ \j(m-c)2+(q—/,)2
Y- ¢ Alq-2z '\j(c-/)z«v(m-q)z
55)Arethep01ntsA(-3,4),B(O,7),C(2,-1),andD(5,2)theverticesofaparallelo 55)

gram ( o ppo si te sid es equal inlength) ? o f a rho m bus (allsid esequalinlength)?
A)no ; yes B) no ; no C) yes; no D) yes; yes
56)

56)Arethepoints A(-3,11),B(0,8),C(2,0),and D(5,3) the ver ticesofa parallel o gram
(oppositesidesequalinlength)? ofarhombus(allsidesequalinlength)?

A)no ; yes B) yes; yes C) no ; no D) yes; no

Findthecenter-radiusformoftheequationofthecircle.

57)cer1ter(0,0),1‘adiu5557)_A)"2 42 =25B)x2 42 =10C)x2 42 =5D)x2 2 =5

A 2 2 B 2 2
58)center (9,6),radius1158) )(X+6) +(y+9)" =11 )(X+9) +(y+6)" =121

C)(x-9)2+(y-6)2=121D)(x-6)2 (y-9)2=11

A) 2 2 B2 2_

59)center (7,0), radius859)__ "/ (x+7)"+y =64

C)><2+(y-7)2=8D)(x-7)2 y2—64

6O)Center(0,10),radiu5860)—A) 2
D)XZ

+(y-10) —64B)(x+10)2+y = 64

C)(x-10)2+y2=64 +(y+10)2—



61
61)center(—9,—8),radius'\jﬁ )

A) (x-8)24(y-92=196D) (x+9) 2+ (y+8) 2 =14

O (x-92+(y-82-14D) (x+8)2+ (y+9)2=19

2) A3 62)
center ((, —1)radius
A) 2 y+1) B)(x-1)2+y2=9C)x2+(y-1)2 D)(x+1) +y2—
3
3)center(-l0,0),radiusl§"3) — A)x2+(y+10)2=169B)(x+10)2+yZ= :
C)(x-10)2+y2=13D)(x+10)2+yz=13

4)
center -\/—1_5) radius

)24y —5) 2058 VB2, g2 -
5 15 15
D 20y 02 b 2
Graphthecirce.
65)X2+y2=6465)

A)B)

15 64)__A)(x



A)B)

C)D)

67)(X-1)2+()"5)2=4



C)D)




) D)

A)B)




Usethegraphtodeterminetheequationofthecircleincenter-radiusform.

70)70)

AP, Lyg 2 (x-4R  (y-2P
Q) (x-412+(v-22=4D) (x+ 412+ (v + 212 =16

71)71)

A) =3B , Lyg 47 (x+32 (y-42
C)(x+32+(v-42=4D)(x-32+(v+42=16

72)



7y
" < = = a! E—- < " <
" < = = a! 6—- < " <
B o
T o
o .1"\_...'/.’._- . o
SpiaiE UL LL I
BRI a4 .
T
a! _6—-
- R+
-101
A)fxr >]§) y - 3)2
C)(\ - >B) (_\ +3)‘-

+=4

73)73)

)(.\+ l%) (v + 1)2
(\+lb

(\ +3)2

(x=3)2 (y+3)2
(x+3)2 (y-3)2
(x=12 (y-3)32
(x-12 (y-3)2

Decidewhetherornottheequationhasacircleasitsgraph.lfitdoesnot describethegraph.

4) 2
C)yesD)no; thegraphisthepoint (8, 2)

75)x +y 12x+4y+31=075)
A)yes
C)no ; the grap histhe point(6,-2)
76)x2+yz+8x—10y+41=0

A) no ; the grap hi s no nexi ste nt
C)no; the graphisthepoint(4,-5)
77)x2+yz+18x—2y+211=0

A)no ; the graphisthepoint(-9,1)
C)no; thegraphisthepoint(9,-1)

+y -l6x-4y+64= 074')_A ) no ; the grap hi s no nexi ste nt B) no ; the grap his the point(-8,-2)

B) no; the graphisthepoint (-6

,2)D)no; the grap his no nexi

76
B) no ; the grap his the point (-4
,5)D) yes

77
B) no ; the grap h i s no nexi ste nt )
D) yes



78)2x2+2y2—4x+12y—12=078)
A) no ; the grap hi s the point (-1, B) no ; the grap his no nexi ste nt
3)C) no; the grap his the point D) yes

Findthecenterandradiusofthecircle.

79).2

X +y -4x-18y+49=0 79)
A)center: (2 ,9),radius: 6 B) center:(9,2), radius: 6
C)center:(-9,-2);radius:36 D)center:(-2,-9);radius:36

80)X2+y2—8x-10y+16=0 80)
A)center:(5,4);radius:5 B)center:(-5,-4);radius:25
C)center:(4,5);radius:5 D)center:(-4,-5);radius:25

81) 2+y +8x-16y+71=0 81)
A)center:(-4,8) ;radius:3 B) center: (-8,4);radius: 9
C)center:(4,-8);radius: 9 D) center:(8,-4);radius:3

82)5x2+5y2+40x-40y+80=0 82)
A)center:(-4,4) ,radius: 4 B) center: (-4, 4),radius: 16
C)center:(4,-4),radius: 4 D)center:(4,-4),radius: 16

Findthecenter-radiusformofthecircledescribedorgraphed.

A B
83)acired e Havi Afa d i amete r wi thendp oints (-1, - 4yanid( - 1y4)83 )" )i-1B)i-16
2 2 2
C)i-\=*1-D3+='\'4 (x+1) y
(x-5)2 y2 (x-5)2
84)acirclehavingadiameter withendpoints(0,4)and(10,0)84 )- A) + =4B)
x2 (y-2)2 Dyx-22 (y-5)
o o+ =25 - =29
B)+=200

A
85)ac1rclehav1n ad1ameterw1thendp01nts( 6, 4)ar1d( 8,2)85) )+=232
NG D (G721
i) s (P (o1

86)86)

10T




A)xs5B) , Ly +6P (x-52  (y-6)2
(x-5)  (y-6)2 (x+52 (y+6)2
o'.)b, Y

O)x+2)2 4y+52 =3D)(x-22 +4y-5)2 =9

Solvetheproblem.

838
88)SupposethatreceivingstationsX,Y,andZarelocatedonacoordinateplaneatthe )
points (.9, (-12,17), and (-8 -7) re spec ti vel y. The ep i ce nter o f an eart hqua keis d
eterminedtobe5unitsfromX,15unitsfromY, and 1 3 uni ts f ro m Z. Wher e o n the co
ordinate pl aneis the ep i ce nter 1 o cated ?
A)at(-2,4)B)at(-3,5)C)at(-2,5)D)at(-4,7)
89)

89)Thelocationsofthreereceivingstationsandthedistancestotheepicenterof

an earthq ua ke are co ntai ned i n the f o Il 0 wi ng thre e equ ati o ns: {X * 32+ (y+2)2=9

v o ; ) : = '
(x+ 812+ (y +572 =25(x =3P +(y + 132 =100 Deger mi ne thelocation o f the ep i ce nter .
A)at(-4,-3)B)at(-2,-5)C)at(-2,-6)D)at(-3,-5)

90)Find the center - radius form o f the equation ofa circl e wi th center (3, 8 ) and tan gent to the x - axis.
90)  A)x-302 Hy-8)2 =64BJx+3)2 +y+8)2 =9
(x=32 (y-82 pyx+32 (y«8)
9

@] + = + =64
91 (1, 11).
)Findtheequationofacirclewithcenterat(—5,3),passingthroughthepoint 91)
Writeitincenter-radiusform.
A)(\—w(ﬁg) (»+1)~ (x+5)2 (y-3)2
(x-5)2 (»+'H- (x+5)2 (y-3)2
Os- 100D)+ 100 ' )

92)Findallpoints(x,y)withx=ythatare5unitsfrom(-1,6).92)__A)(2,2)and(-3,-3)B)(2,2)
and (3,3)
O)(-2,-2)and (3,3)D)(-2,-2)and (-3,-3)



93)Find all val ues o f y such th at the d i sta nce between (2,y)and (-10,3)is13.93)__A)2,8B)-2,8C)-
8§,2D)-8,-2

94)Acirclehasadiameterwithendpoints(-2,1)and(10,13).Find the co o rdi nates o f the ce nter . 9
4)



A)(-8,-5)B)(8,14)C)(4,7)D)(22,25)
95)Acirclehasadiameterwithendpoints(-2,1)and(4,9).Findtheradius.95)_A)5B)C)D)10

Af1C A5

96)Find’checenter—mdiusformoftheequationofthecirclehavingadiameterwithend 96)
points =31 g 7>

A)(x+32 ty-7)2 =10B)(x-12 {fy+42 =5

O (x-3)2 ty+7)2 =100D)(x+1)2 ty-4)2 =25

Decidewhethertherelationdefinesafunction.
97){(-3,-2),(3,6),(4,6),(7,-7),(10,-1)}97)__A)FunctionB)Notafunction

98){(-5,1),(-3,-6),(3,-3),(3,5)}98)_A)FunctionB)Notafunction
99){(-8,2),(-8,8),(1,4),(6,-4),(10,2)}99)__A)FunctionB) Nota function

100){(-3,-4),(-1,4),(4,-7),(7,4)}100)__A)NotafunctionB)Function

101)101)

_

A)No ta functi onB) Function

102)102)

3
[

W oy O

A)No ta functionB) Function

103)103)

A) FunctionB) No ta f uncti o

n104)StudentTestScore104)

Name{Test Score
Bob L. 76
Susan H, 83
Jim H. 76
Bruce B. 96

A) No ta functi on B) Function



105)StudentTestScore105)

Name{Test Score
Bob L. 91
Susan H.| 83
JimH. 91
Bruce B 96

A)FunctionB) Notafunction

106)Annual New Telemarketing Companies106)

Year|Number
1995 28
1996 36
1997] 131
1998 94
1999 234

A) Function B) No ta f uncti o

n107)107)

A) FunctionB) No ta f uncti o

n108)108)
Is
o1
st
A
& 0 NS v E | 10 x
ST
&

N

A

A)FunctionB) Notafunction

109)



A) No ta f uncti o n B) Functi o

n110)110)

A) No ta f uncti o n B) Functi o

n111)111)

A) No tafunctionB) Function

112)



A) FunctionB) No ta f uncti o

n113)113)

A) No t a f uncti o n B) Functi o

nl114)114)

A) No tafunctionB) Function

115)



A) Function B) No ta f uncti o

n116)116)

A) No ta functi B) Functi on
on

117){(2/9)/(_31_8)/(_6/_5)/(5/0)} 117
A)domain:{2,5,9};range:{-8,-6,-5,- B)domain:{-6,-3,2,range:{-8,-5,0, )
C)domain:{-8,-5,0,9};range: {-6,-3,2 D)domain:{-8,-6,-5, range: {2,5,9}
/5} -3},

118){(1/9)/('11'9)/('71'5)/(61'9)} 118
A)domain:{1,6,9};range:{-9,-7,-5,- B)domain:{-9,-7,-5, range:{1,6,9} )
C)domain:{-9,-5,9};range: {-7,-1,1,6} D)domain:{-7,-1,1, range:{-9,-5,9}

119){(1,1),(-3,-3),(-7,-7),(4,4)}119)__ A)domain:{-7,-3};range:{1,4}B)domain:{-7,-3,1,
4};range:{-7,-3,1,4}
C)NoneoftheseD)domain:{1,4};range:{-7,-3}

120)120)
L]

A)NoneoftheseBydomain:{5,8,13};range: {4,7,12}C)domain:{4,7,12
;;range: {5,8,13}D)domain: {4,5,7};range: {8,12,13}

121)



—_
N

L]
-

A)domain:{4,5,7};range: {12,13} Bydomain: {5, 13};range: {4,7,1 2}
C)NoneoftheseD)domain:{4,7,12}; range: {5,1 3}

122)122)

lII
oy

<]
L]

A)domain:{4,7,12};range:{5,8,13} B) None o f these
C)domain:{4,12};range:{5,13}D)domain:{5,8,13};range: {4,7,12}

123)123)

W oy O

(8
[

A)domain:{4,7,12};range: {5,8,13}B)domain:{5,8,13};range: {4,7,12}
C)NoneoftheseD)domain:{4,8,12};range: {5,7,13}

124)124)

A) No ne o f these B)domain:{5,8 ,1range:{4,7,1
C)domain: {4,8,1 range: {5,7,13} D)domain:{4,7 ,1range:{5,8,1
2 2} 31}

125)Annual New TelemarketingCompanies125)
Year|Number
1995 56
1996 112
1997 187
19981 178
1999 318

A)domain:{1995,1996,1997,1998,1999};range: {56,112,
178,187,318} B)ydomain:{56,112,178,187,318};range: {19
95,1996,1997,1998,1999} C) None o f these

D) d o mai n: { Year} ; range: { N um
ber }

126)Annual New Telemarketing Companies126)



Year|Number
1993 32
1994 102
1995 187
1996 170
19971 218

A) d o main: { Year}; ra nge: { N um
ber }



B)domain:{1993,1994,1995,1996,1997};range: {52,102,1
70,187,218}C)domain:{52,102,170,187,218};range: {199
3,1994,1995,1996,1997} D) No ne o f these

127)127)

A) d o main: (-, ) ; range: ( - oo, o)

3)U (-3, ); range: (==, 0) U

-2,0)U (0, %); ran ge: ( -
ain: (-e, 0100, ) ;

<.

i
LI

i

-10 5 T 5 10 x
ST
10F
e

A) d 0o main: (-, ) ; range: ( - =, =) B) d 0 mai n: ( - o, =) ; range: { 8 } C) d o mai

n:(-ce, %) ;range: (-, 8 ) U (8, ) D)d 0o main: {8 }; range: ( - =, o)

129)129)




A) domain: (-co, );range: (-, %) B)domain: (-ee, 1)U (1, e); range: (-, «)C)d omain: {1};range: (-, =) D)d o main: (-, ); range: {1}

130)



A)d omain: (-, );range:[1, ) B) d o main: (-, ) ; range: ( - ¢, ) C) d 0 mai

n:(1,e);range: (4,<)D)domain:[1, ); range: (-, )

131)131)

A) range:(-°,-3)U(-3,0)U(0,3)U(3,);domain:(-,-10)U(-10,0)U(0,10)U(10,)B)range: (-3,3);domain:(-10,10)
C)  range:(-3,0)U(0,3);domain:(-10,0)
U(0,10)D)range: (-, ) ;d 0 main: ( - e, =)

132)132)

A) range: (- o, ) ; d 0o m ai n: ( -0, o)

B) range: (-, 0)U(0,4)U(4,);domain:(-e,-5)U(-5,0)U(0,e)C)range: (-c,4)U (4,e);domain:(-e,-5)U(

5,5)

D) No ne o f these



133)



A)d omain: (-e,);range:[6,
~)B)d omain: (0, «); range: [ 3

oo
7

C)d omain: (-e,0)U(0,);range: (-,0)U

(0,)D)domain: (-e,0);range: (-,0)

134)134)
5 y
1
3
2
1
65432144123 456¢*
2
V
L] -4
\, /.5

A)domain:[-3,0];range:[-5,-1]B)domain: (-,-1];range:[0,3]C)d
omain:[-5,-1];range:[-3,0]D)domain: [0, 3 ]; range: (-, -1]

135)135)

AN,
7N

A)domain:(-,5)0r (5 %);range:(-«,1)o0
r (1, ) B)domain: (-eo, ) ; range: ( - o, =)



C)domain: (-, 5]; range: (-,
1]D)d omain: (-ee, «); range: (

'°°/1]

136)
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A)d omain: (-, «);range:[3, <) B)domain: [0, e);range: [0, ) C) d o mai

n:[0,);range:[3,)D)domain: [0, =) ; range: (- o, =)

Decidewhethertherelationdefinesafunction.

137)3x=9-4y137)_ A)NotafunctionB)Function

138)y=5x-2138)_A)NotafunctionB)Function

139)y=x3139) _ A)FunctionB) Notafunction

140)y2=5x140) _ A)FunctionB)Notafunction
A5x -6
141)y =N 141)
A) FunctionB) No ta function

142)10x-2y>-9142)__ A)No tafunctionB)Function
143)x=y6143)_ A)NotafunctionB)Function
144)y=x2144)_ A)FunctionB)Notafunction

145)xy=-3145)_ A)FunctionB)Notafunction

146 5 146)
) x-1
y:
A)FunctionB)Notafunction

Givethedomainandrangeoftherelation.

147)y=X2+8147)_A)d0main:(-oo,OO);range:[8,M)B)domain:(-oo,oo);range:(-8,<>°)



C)d omain: (8, «); range: (-0, *) D) d o main: (-8, =) ; range: ( - o, =)

148)y=(x+4)2-4148)

A)domain: (4, ); range: ( - o, =) B)domain: (-, range:[-4,
C)d omain: (-9,- range: (-, ) D)d omain: (-, range:(-es,-

149)y=2x+11 149
A)domain: (-, range:[11, ) B)domain: (-, range: (-, «)
C)domain: [0, ) ; range: (-0, ) D) d o mai n: ( - e, =) ; range: [0, o)

150)y=3x7 150
A)domain: (-, range:[3, ) B)domain: (-, range:[0,)
);C)domain: (- range:[-3, ) «);D)d omain: (- range: (- oo, )

151)x=y4 151
A)domain: (-, range:[0, =) B)domain: [0, range: (-9, )
C)domain: (-, range: (-, o) D)domain:[0, range:[0, o)

152)x=8 152)

4 B ST nger (o)
C) d omain: ( - e, ) ; range: ( - e, =)

D)d o main: (-e2,0) U (0, ); ran ge: [0, )

153)y=\125+3«\')_A)d0main:(-w,oo);range:(—°°,<><>)B)d0main:[O,w);range:(—oo,oo)

C)domain:[-2, ) ;range: [0, ) D) d o main: ( - e, o) ; range: [ - 2, =)

154)y =~4x-5 154)

A) B) 5
B
5 4
i e
E .
d omaint; range: [0, «) C) d omain: (-ee,);
5
. — Q0 5
d o main} jtamge: [0, =) range: D) T
d o main: ; range: ( - o, )
155 17 D) d o mai
) y: l/—\ ‘I}:M(-W,-6
A) domain: (-, );range: (-, 0) U (0, =)B)domain: (-, =);
Cr)angi'o(r;axe::z,l7)U(17,m),mnge'(-w, =) ’ range: ( B
D) domain: (-e,17)U(17,);range: (-°,0)U (0, ) =0)u(0
;)
15
6) =

)



155)
156)

Evaluatethe fun ction.
157)Findf(-2)whenf(x)=-5x+3157)



A)7B)-2C)13D)4

. 2 1 -
158)Flndf(—l)whenf(x)=x -2x-7 58) A)6B)-8C)-4D)10
159) 2 159)FiITdf(O)whenf(x)=x +3x-5 A)-5B)0C)5D)25
160)Findf(-S)whenf(x)=2x2+3x+5160) A)14B)5C)32 D) 4
161 [l]n 161)
4 A
) Find when f (x)=2*" +9x-7
37
A)B)€)D) 37 1 1
8 3 4
162 1 162)
) Findg(a+1)wheng(x)=x+5.
A) 1 B) 1 C) ) 26 a-26
5 5 3 45 5 5
163)Findg(a-1)wheng(x)=2x-5.163)
A)2a-5B)2a-7C) 1 D)2a+1
2a—5
164)Findf(k)whenf(x)=3x2+4x+5164)—A)31<2+161<+5B)3k2+41<+5c)91<2+161<+25D)31<2+4k+
25
2 2 2 2 2
165) pindt(-xwhenf (=3 * -5x+4109)— 3% 15414B) 3 4544937 154:4D) 3
+5x-4
166)Findf(k-l)whenf(x)=4x2-3x+4166) — A)4k2-111<+11B)-11k2+4k+11C)41<2+131<+5D)41<2
-11k+5

167)Findf(3)iff={(-2,3)(3,0),(0,5),(5,-2)}167)_A)Noneo fthese B) (0,-2)C)0D)-2
168)Findf(12) 168)

.

A)4B)7C)(7,4)D)None o f these

Thegraphofy=f(x)isgiven.Usethegraphtofindthefunctionvalue.
169)



1690) 18

H=-4 ¥=1i.H
—-18
Fi
nd f(
A)1B)1.8C)Noneo ftheseD)-4
-4).

170
) 18
' 1
B FE I T -
-2
Findf(4).

A)15B)Noneo fthese C)-1D)4

171

Findf(-3).
A)2B)-5C)-3D) Noneo f these

172)Findf(-2).172)

N
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170)

171)



A)5B)1.25C)-2D)2



173)Findf(5).173)

A)9B)-11C)2D) 11

174)Findf(-3).174)

5

1y

A)0B)-2C)5D)-3

Anequationthatdefinesyasafunctionofxisgiven.Solveforyintermsofx,andreplace
ywiththefunctionnotationf(x).

175)x-2y=14175)

A) 1 B) 1 Q) 1 D)f(x)=-x+7
f(X)=-3<+7 f(x)=%<—7 f(x)=3<-14
176)x+7y=7176)
A) s B) : 4 Q) f(x)=7x-7D)f(x)=-x+1
f(x)=-Xx+1 F(x)=x+1

177)y-4x2=7-x177) —A)f(x)=4x2-x+7B)f(X)=4X2+X+7

C)f(x)=-4:x2+x-7D)f(x)=-4:x2-x+7



178)9x+5y=8178)__A)f(x)=



2 8 B) f(x x +) C) f(x D) f(x
5- 5 _ _
= )_
_9 g 9 x
5 = -8
X X-
8
+ 5
i
5
179)5x-2y=3179)
A) 5 3 B)f(x)=5x-3C) D) 3
2 2 2.2 5 2
f(x)=x- " f(x)—g(+ 5 f(x)=e,§-+

Determinetheintervalsofthedomainforwhichthefunctionisincreasing, decreasing, andcon st

ant.

180)180)
A)Increasing[1,e); Decreasing (-o,1]B)Increasing(-o,-1];Decreasing[-1, )
C)Increasing(-,1];Decreasing[1,e)D)Increasing[-1, «);Decreasing (-, -1
]

181)181)

A) Increasing (-o,0]; Decreasing [0, -)B)Increasing[ 0, «); Decr easing (-, 0]

C)Increasing(-o°,0]; Decreasing (-, 0] D) Increasing (-,0]; Decreasing[0,

)



182)



A) Increasing (-o,0]; Decreasing [0, - ) B)Increasing[ 0, o) ; Decr easing (-, 0]

C)Increasing(-c°,0]; Decreasing (-, 0]D)Increasing (-,0]; Decreasing[0,

)

183)183)

A)Increasing[0, e); Decr easing (-, 0] B) Increasing (-, 0]; Decreasing [0, )

C)Increasingforallreals; Decr easi ng ne ver D) Incr easi n g ne ver ; Decr easing f or all re al

s184)184)

A)Increasing[ 3, «); Decreasing|[ -3, «); Consta

nt(-3,3)B)Increasing (-, 3]; Decr easing( - e, -
3];Constant (-3,3)C)Increasing]| 3, ) ; Decr easi
ng(-o,-3];Constant[-3,3]D)Increasing (-, 3
]; Decreasing[-3, «);Constant[-3, 3]

185)



A)Increasing|[4,~);Decreasing (-e,4]B)Increasing(-c,4];Decreasing (-,4]C)

Increasing(-,4];Decreasing[4, «)D)Increasing[4, «); Decr easi ng [ 4 «)

186)186)

-15 ’/'-

A¥Increasing(-2,2); Decreasing (-,-2)U
..ﬁ,w)B)In(roz\sxng(-W,-Z)U( , ) ; Decr

@ . -300 . .
easi ng ne ver|) Incr easin g (2, =) ; Decr easi
ng ( -0, -2 )

D) Incr easi n g ne ve 1; Decrea sing (-, -2) U(2, )

Usethegraphtosolvetheproblem.

187)Theheighthinfeetofaprojectilethro wnupward fromtheroofofabuildi
ng afpter ti me t seco nd s is sho wnin the gra phbel o w. Ho w hi gh will the projec

til8he af ter 2°. 2 s?
600 ' 188)
5001 T
gad | h
00F -
G e
2001 G
R s
lOO-- N
& s 'S 1 ' Ao u
) I 2 3 & 5§ Mg r
N f
a
A)300ftB)325ftC)275ftD)250 ft ;
e
a
I
e



aofacylinderisshowninthegraphbelow. Whatistheradiusrifthesurfaceareais

5m2? 187)



4 " 1 I I } I I I I i 5
T

T T T T Ll L) 4
04 08 12 16 2 24 28 32 36 4 ¢

~

A)-0.2mB)0.4mC)0.2mD)0.0m

189) The grap h s ho ws the re 1 ati o nshi p bet weencurrentland resistance Rifthevoltageil89)s
fi xed . Fi nd the cur re nt i f the re si stanceis1.1 Q.

A)4.6AB)4.2AC)4.4AD)4.8A

190)
190) The grap h s ho ws the re I ati o nshi p bet weenthe are a A o fare ctangl e and t he

len ?L,ifthewidthisfixed.Findtheareaifthelengthis6cm.

320
240

160 ™

A) 2C) 2D

36(:m28)18cm 54cm )27cm2

ThelinegraphshowstherecordedhourlytemperaturesindegreesFahrenheitata
nairport.



- Recorded Hourly Temperatures

78

4

75

74 /

Temperature °F

72

<.1

Qam 10 1M 12pm 1 3 3 4 g [
Time

191) A twh at ti me wa s the te mp er ature the highest?191) _ A)11a.m.B)5p.m.C)2p.m. D)1 p.m.
192)Atwhattime wasthetemperatureitslowest?192) _ A)6p.m.B)9a. m. C)1p.m. D)4 p. m.

193 )Whattemperaturewasrecordedatlp.m.?193)__ A)77°FB)79°FC)81°FD)80°F

194 ) Duri ng w hi ch ho ur d i d the tempe rat ure i ncr ease themost?194)__A)9a.m.tol10a.m.B)12p.m. to
1p. m.
Olpmto2p.m.D)l0a m.tolla m.

195)Atwhattimewasthetemperature73°?195)__A)l10am.B)l0am.and11a m.
C)4p. m and5p.m.D)5p. m.

196 ) Duri ng w hi ch two ho ur peri o d d i d the tempe rat ureincreasethemost?196)__A)12p.m.to2p. m.
B)l10am.tol2p.m.

C)l0am.tolla.m.D)9a.m.tol11a. m.

197) A twh at ti mes w as t he tem pe rature hi gherthan77°F?197) A)from 12 p. m. until 3 p. m. B) af ter 1
2p.m.

Cfroml12p. muntillp.m. D)from11a m. until3p. m.

198) Atwhatti mes wasthe tem peraturebelow77°F?198)__ A)from12p.m. until3p.m
B) af ter 3 p. m.
C)from9a m.until11 a. m.and from 3 p. m. until

6pmD)from9a m.until12p.m.andfrom 3 p.

m. until 6 p. m.



15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

26)

27)

28)



29)

30)

31)

32)

33)

34)

35)

36)

37)

38)

39)

40)

41)

42)

43)

44)

45)

46)

47)

48)

49)

50)

51)



52)

53)

54)

55)

56)

57)

58)

59)

60)

61)

62)

63)

64)

65)

66)

67)

68)

69)

70)

71)

72)

73)

74)

75)



76)

77)

78)

79)

80)

81)

82)

83)

84)

85)

86)

87)

88)

89)

90)

91)

92)

93)

94)

95)

96)

97)

98)

99)



100)

101)

102)

103)



104)B
105)A
106)A
107)A
108)A
109)A
110)B
111)A
112)B
113)B
114)B
115)A
116)A
117)B
118)D
119)B
120)C
121)D
122)A
123)A
124)B
125)A
126)B
127)A
128)B
129)C
130)D
131)D
132)A
133)A
134)A
135)D
136)C
137)B
138)B
139)A
140)B
141)A
142)A
143)A
144)A
145)A
146)A



147)A
148)B
149)B
150)D
151)B
152)A
153)C
154)A
155)D



156)B
157)C
158)C
159)A
160)A
161)A
162)C
163)B
164)B
165)A
166)A
167)C
168)B
169)B
170)A
171)B
172)D
173)D
174)A
175)B
176)A
177)A
178)B
179)A
180)D
181)B
182)D
183)C
184)C
185)C
186)B
187)C
188)C
189)A
190)C
191)D
192)B
193)B
194)D
195)A
196)D
197)A
198)C






